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A91 A1)lgi alial atiga .g)lailall agy ale Y5 wa yu)la paib ga yuad &l vaw,
Senblall Ayjlill Lo &nbla Ayjlgill oam anig déoaléll algiwll ja aael g)lailsll

Each year, the third Thursday in March is named Kangaroo Day. The
dates of Kangaroo Day for the next few years are shown below, with
one error. Which date is wrong?

Q March /17/ 2022 2022/ gujla/ 17 0
© varch /162023 2023/ yupa/ 16 @)
G March /14/ 2024 2024 /yujla/ 14 e
@ varch 20/ 2025 2025/ guyta/ 20 (@)
@ varch 19/ 2026 2026/ gupta/ 19 (@)
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Rana looks at her weather app that shows the predicted weather and
maximum temperatures for the next five days. Which of the following
represents the corresponding graph of maximum temperatures?
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aiMill aljhuall aai Jgh wle i Ji dhé agyi . AaYl dulhia Glia JSib wilc ojiia
bghall qun aljiwall) wvlamll ga¥l S wll sglell gS)l go JSuill dangall
Je daan ddlill aljuell i .JSuilll qua las «aljuuall Jighi Jiai R g Q g P .(6Suawmll

CaiNill aljbuall Jighi

A park is shaped like an equilateral triangle. A cat wants to walk along
one of the three indicated paths (thicker lines) from the upper corner
to the lower right corner. The lengths of the paths are P, Q and R, as

shown. Which of the following statements about the lengths of the
paths is true?




3 point problems

. 6cm sglall juu¥l Jrhiwall glai)l .JSill xtiga las driya Shiwa diw
Jehiwall glai)l la . cm?2 6aagy lavisbwa ] Suhiwall Jala alacYl puili
NIETIINER
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Six rectangles are arranged as shown. The top left-hand rectangle has
height 6cm . The numbers within the rectangles indicate their areas in
cm2. What is the height of the bottom right-hand rectangle?




Jlld@gpall gi ciiey lam « 9:14 v Al 6,5 éljla ga JgVl bguill dagii cils 13
iyl jane @&llhall yibgii gy wjaall alayleil dayiig .dlami dwasy loadia gls
jLa 151 wailill bguidl a5l dypall el gill @laal aac e Jawg duaall

¢aljlall dulaill daill e lad .aalg Wam &)lay éljually duaall Gy all

The halftime score of a handball match was 9:14 , thus the visiting team
was leading by five goals. As a consequence of coach instructions
received at halftime, the home team dominated in the second half and
scored twice as many goals as their opponents. The home team won the
match by one goal. What was the final score of the match?

Qs Q20 @221 Q2322 @ 2223




. 5cm? Lavia S éablwa ddlhia dlitea diw Ja digho dasi arigy yulill JSuidl
dalwo Lo . Jauill anga las ahiia quulaw aw)yl dasill @lyhi Jungi ai
¢ abiiall quulawll

Six congruent rhombuses, each of area 5cm?, form a star. The tips of
the star are joined to draw a regular hexagon, as shown. What is the
area of the hexagon?




aalag aani :claci 6 ga dypall aleaall §aaY deaiaall Aaaill @iy Jgaiy
19,20,21 v aajlaci JgaVl @iMill cliacYig (paell yuai via amls) jaig
€)1 jac glu a5 lalc 21 ga wyall jlaci hwgia ji cale 13] lale

The community service team of a charity consists of 6 members:
Ahmed, Majed and Badr (all of them are of the same age), the other
three members are19, 20 and 21 years old . If you know the average
age of the teamis 21 . How old is Badr?




AVIg yuulj lamaai uhay glwai deyjl wll aauudi ai 30cm akhuaa Juhiwa
hua la . JSiilh anga las 9cm? aislwa giya alwédl odm asi . gddl

€ ABCD Jihiwall
9 sz
D C
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A rectangle with perimeter 30cm is divided into four parts by a vertical
line and a horizontal line. One of the parts is a square of area 9cm?, as
shown in the figure. What is the perimeter of rectangle ABCD?




3 point problems

wulill J&iill .dugljll Lailé haa aaia liling (pelall Lalhia haa amia liliag
c&llill &liall gan il laa i . aaia Jlilia Argy

Aly drew three triangles on a grid. Exactly two of them have the same
area, exactly two of them are isosceles, and exactly two are right-angled
triangles. Two of the triangles are shown. Which could be the third one?
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aaell cuya 15] gi aaell go 11—0 cngh 13l Lol bhac dpenl il wiil a)lial

Céylagl yua aijlial sall 3aell g Lo Aagiill gudi wilc Jnai dguw 11_0 wa

The little kangaroo has chosen a special number. She gets the same
result when she subtracts 11—0 from her number as she does when
she multiplies it by 11—0 . What is her number?




lolgh piic Laalgh Auni laaicg wigVl Jedi . guldall gudi ja dleai 10 amd sal
aiwlg @il Jeubil qiln¥l Lalgh pirc éilill Jgh auni laaicg @uilill Jedi wnyl
JUA Lolai @jini daalgll deaiillg (Jaeall guaiy d@jiai aleadll graa cils 13] 1agm

Célals aleai piell @ljiaY ajl aagll o a5 .(uidds

Fahd had 10 sparklers of the same size. He lit one first. When only

a tenth of it remained, he lit the second one. When only a tenth of that
remained, he lit the third one, and so on. Sparklers burn at the same
speed along their entire length. One sparkler will burn in 2 minutes.

How long did it take for all 10 sparklers to burn down?




da)d aeny Yl aisay Ggha JS ¢ .alaya 8 Jo gaiy 1) aeny gl Joud ayp
Jrud guhing Y cllalg ajall ga dwsbwll é)all nié g2 a3gy .in)a gi 6aalg
€ duglell dxjall Jrud Loy aeny wiill dalisall @jhll aac a5 .dajall oaa aladiwl

Faisal walks up 8 steps going up either 1 or 2 steps at a time. There is
a hole on the 6th step, so he cannot use this step. In how many different
ways can Faisal reach the top step?




alalall ghldi aic dagagall dpenll glgall Jala 6 wll 1 ga alac)l giig ai
JGiill ahga 6 aaell gaga ddls JS wle alac)l ggasa sglmiy funy Sl
¢ almaimyl dnde Al épuéenll dslall 3ac ga Lo

The numbers from 1 to 6 are placed in the small circles at the intersections
of three rings. The sums of the numbers on each ring are the same. The

position of number 6 is shown. What number is placed in the small circle
with the question mark?
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.58gluy 6,7,8,9 alacyl ga sac §i wilc oliawma [3] 2021 320l dawd yaly
Céunlall odm gudi Lo ¢illg 2021 Ja Y&Vl duagall dxganll alacYl sac a5

2021 has a remainder of 5 when divided by 6, by 7, by 8, or by 9.
How many positive integers, less than 2021, have this property?

04 GB GZ 91 Guuuy
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The figure shows a semicircle with center Q. Two of the angles are
given. What is the size, in degrees, of the angle & ?




ga lal @byya Js ggaiy dwmdliall ey jUALl (1a &ya dwad aagy «dyall ddibua (na
219199179 159 9 g wiyi yga @yall clirci aac .haa alidl gi haa aygil
aiMi sgluy 2oy glay al il alidl sac aunl JgVl dyall eliel guas iag gl aeig
¢Joall ias gall dipall cliaci aac gly as .ae) Igiau al gall a¥gYl aac Jlial

In a team competition, there are five teams waiting to start. Each
team consists of either only boys or only girls. The number of team
members are 9, 15, 17, 19 and 21. After all members of the first team
have started, the number of girls not started yet is three times the
number of boys not started yet. How many members are on the team
that has already started?




Jaill anga las dyladl Ailsg il wid aljlus guas &5 )l
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olW's oV o lol o blVe ol o0 —

¢ @luull aljluw J&I aaia il ddsll blaill go sac jeni la

Five cars participated in a race, starting in the order shown.

610 blic ol olVe bV oo —

Whenever a car overtook another car, a point was awarded. The cars
reached the finish line in the following order:

o's bV o ol o lolVe ol oo —

What is the smallest number of points in total that could have been
awarded?




Jliai anlgll ghall nia .dladl (ia jan saell abi)la ga dula JS sgai 3x3 gipa lisal
Aaiig .21Vl al)A alaci ga sac Jal 1 dunig (puudl Jsuill gia Jlaall Jia) 2x2 gipa
Bl eguil . gl JSuinll gad wnill daiill wale Jaai gi vl alya dac dddaoll aaa 1S

¢ alaaiwyl dale ald adall aac ga La .Gyl ue oVl JSuill wa slacyl jae)

o oo JR1IN
0|00 .47.
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A 3x3 square initially has the number (0) in each of its cells. In one

step all four numbers in one 2x2 sub square such as the shaded one,
for example, are then increased by 1. This operation is repeated
several times to obtain the arrangement on the right. Unfortunately,
some numbers in this arrangement are hidden. What number is in the
square with the question mark?




€@333all cuwll Lilgjll £gasa la angall J&iill gua

What is the sum of the six marked angles in the picture?




a §gluy la] (1)glaia (peyya JS wa Jaaell cgasa Gleyya 8 aagy wullill by pinll via
Jdpinll Jawi qié ango gan las a+1 sgluy gi daupilll wlel yid afhga g las
€ a dad la. 2021 laa)s Jalill gipall g Jg¥l gipall wia glagagall Jlaaell

a a a a
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a-+1 a—+ 1 a—+1

There are eight boxes in the strip shown. Numbers in adjacent boxes
have sum a as shown above the strip or a+1 as shown below the
strip. The numbers in the first box and the eighth box are both 2021.
What is the value of a ?
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An ant climbs from C to A on path CA and descends from A to B on the
stairs, as shown in the diagram. What is the ratio of the lengths of the
ascending and descending paths?
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The numbers a,b and c satisfya + b + c = 0 and abc = 78. What is the

¢ (a+b) (b+c) (c+a)

value of (a+b) (b+c) (c+a)?

O (5 JET QO - O s




ala)i cgasalaa. 2021aald)i £gana uaga Aan aac jeniga NYLS 13|
¢ N + 2021 2aall

Let N be the smallest positive integer whose sum of its digits is 2021.
What is the sum of the digits of N +2021?




al dals amaai wis 13] .alals 10 alg JS wisy lawag (Glals) dvel gguels aYgi @il
dals Jis 13] 6aalg dhdi wilc Jnag laiy doldi S wile Jang gaadl laisg
algll ga JS lauisg dals wis 13| dhdi si wile Jnay Yg ada jal alg lauisg
wilc Jnn ad amia JS gl gui aaia J5 Lale Jas il BLAI 3ac glwa aicg . gya)l
Jrana jac Lai blaill ga sac Jéi gag dhdi 19 wilc glhlw Jns blaill ja @lisa sac
¢jac laule Jna will blaill aac a5 . blaill ga aac pSiwlc

Three boys played a "Word" game in which they each wrote down 10
words. Each boy scored three points if neither of the other boys had the
same word. Each boy scored one point if only one of the other boys had
the same word. No points were awarded for words which all three boys
had. When they added up their scores, they found that they each had
different score. Sultan had 19 points, which was the smallest score,
and Omar had the highest score. How many points did Omar score?




salayll éuiall dslwa g 16cm?2 sglwi yenil giyall dslua Atigall J&uill qa
¢ pusll gyyall dslwa lo . 1cm? ggluwi

The smaller square in the picture has area 16cm? and the grey triangle
has area 1cm?. What is the area of the larger square?

017cm2 ewcm2 ewcm2 620cm2 GZ1cm2




gl aac a-b Al Aili gls 13] . a1an aael giya g a,b guaaell ga Js
¢ b aaell daid ygsy gl $4aa wili laa @i

Each of the numbers a and b is a square of an integer. The difference
a-b is a prime number. Which of the following could be b?




Jgaall wilay 63gagall alacYl .aguwil ggll aba yagy )b gy 4x4 Jgaa Ligal
gl «nll yia agwil yglb lagih uy will LA aac Jiai (JSuill las) alawi g
€Jgaall Iam oMb ySay ddgyh as) .agaell
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In the 4x4 table some cells must be painted black. The humbers next
to and below the table show how many cells in that row or column
must be black. In how many ways can this table be painted?

Q: 0:- 0O: 0 Jo
esaa,.‘i'si

More Than 5




Leraldji up Jnla willg alé)i dwa’ Ja digQall diagall alacdl aac a5
€ 1000 Sgluw

How many five-digit positive numbers have the product of their digits
equal to 1000 ?




loaic .dalisa dinga duan alaci alpall lavijg ddinea Glac wilai ggaa gal
«sAV Yljall das wia ilac sig gias §b ljro 4as wa guilac gl sgaa gni
daud jonl Lo .gu)¥l Glaell J4il wlc iaga Sgini wiill v A3)V1 dasll jg&ai

Célac Jdii gjg)

Fadwa has eight coins whose weights in grams are different positive
integers. When Fadwa puts any two coins on one side of a balance
scales and any two on the other side of the balance scales, the side
containing the heaviest of the four coins is always the heavier side.
What is the smallest possible weight of the heaviest coin?

(A JB QO: O Oz O :




aab digla 68 JS < 2021 wll1 Ja dadyag anlg o wia duipa 6;52021 Lisal
655 a3gi dulliia Alys guad gl ju ga d)jil gani gasi gasl deiil gigh
.elyan 3g4i g uxg clyan 6y5 Jal dadlill 65411 .cld)j 6359 clpan G359 clyan
€ 2021 é,all gygl La . pAaai Lavigl 202 ( 20 ¢ 2 dadjall alyall

2021 balls are arranged in a row and are numbered from 1 to 2021. Each
ball is coloured in one of four colours: green, red, yellow or blue. Among
any five consecutive balls there is exactly one red, one yellow and one
blue ball. After any red ball the next ball is yellow. The balls numbered

2, 20 and 202 are green. What colour is the ball numbered 20217
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